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1. ��-�/ %�$��&�$�%&��� $���'�� �$��$���/  
''����� ��%&�����/ 

��.02 -���&$�&�%���� � -���&$����� 

 

1.1. �5?4EFL ?D<<5=5=<O D45>G5= ?D>7D4<<O 

$45>G4O ?D>7D4<<4 GG55=>= 4<EF<??<=O O6?O5FEO >5O74F5?L=>= G4EFLN 
>5D47>64F5?L=>= ?D>7D4<<O 6 E>>F65FEF6<< E $��% ?> E?5F<4?L=>EF< %��  
21.02.11 �5>D<7<G5E><5 <5F>4O ?><E>>6 < D47654>< <5EF>D>645=<= 
?>?57=OE <E>>?45<OE. 

 

1.2. �5EF> GG55=>= 4<EF<??<=O 6 EFDG>FGD5 >5D47>64F5?L=>= ?D>7D4<<O  
'G55=4O 4<EF<??<=4 «-?5>FD>F5E=<>4 < M?5>FD>=<>4» O6?O5FEO G4EFLN 

>5M5?D>D5EE<>=4?L=>7> F<>?4 >5D47>64F5?L=>= ?D>7D4<<O. 
�E>5>5 7=4G5=<5 4<EF<??<=4 <<55F ?D< D>D<<D>64=<< < D476<F<< �� 

1, �� 2, �� 3, �� 4, ��5, �� 9. 

 

1.3. &5?< < ??4=<DG5<O5 D57G?LF4FO >E6>5=<O GG55=>= 4<EF<??<=O: 
'G55=4O 4<EF<??<=4 «-?5>FD>F5E=<>4 < M?5>FD>=<>4» >55E?5G<645F 

D>D<<D>64=<5 M?5<5=F>6 ?D>D5EE<>=4?L=OE < >5M<E >><?5F5=F<= ?> 6<44< 
45OF5?L=>EF< $��% %��, 4 F4>65 ?<G=>EF=OE D57G?LF4F>6. 

� D57G?LF4F5 >E6>5=<O 4<EF<??<=O >5GG4NM<=EO >E64<645F M?5<5=FO 
>5M<E >><?5F5=F<= (��): 

�� 01. �O5<D4FL E?>E>5O D5L5=<O 7444G ?D>D5EE<>=4?L=>= 
45OF5?L=>EF< ?D<<5=<F5?L=> > D47?<G=O< >>=F5>EF4<. 

�� 02. �E?>?L7>64FL E>6D5<5==O5 ED54EF64 ?><E>4, 4=4?<74 < 
<=F5D?D5F4F<< <=D>D<4F<<, < <=D>D<4F<>==O5 F5E=>?>7<< 4?O 6O?>?=5=<O 
7444G ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 

�� 03. �?4=<D>64FL < D54?<7>6O64FL E>5EF65==>5 ?D>D5EE<>=4?L=>5 < 
?<G=>EF=>5 D476<F<5, ?D54?D<=<<4F5?LE>GN 45OF5?L=>EFL 6 
?D>D5EE<>=4?L=>= ED5D5, <E?>?L7>64FL 7=4=<O ?> ?D46>6>= < D<=4=E>6>= 
7D4<>F=>EF< 6 D47?<G=OE 6<7=5==OE E<FG4F<OE. 

�� 04. -DD5>F<6=> 674<<>45=EF6>64FL < D45>F4FL 6 >>??5>F<65 < 
>><4=45. 

�� 05. �EGM5EF6?OFL GEF=GN < ?<EL<5==GN >><<G=<>4F<N =4 
7>EG44DEF65==>< O7O>5 $>EE<=E>>= $545D4F<< E GG5F>< >E>55==>EF5= 
E>F<4?L=>7> < >G?LFGD=>7> >>=F5>EF4. 

�� 09. �>?L7>64FLEO ?D>D5EE<>=4?L=>= 4>>G<5=F4F<5= =4 
7>EG44DEF65==>< < <=>EFD4==>< O7O>4E 

 

�5D5G5=L ?D>D5EE<>=4?L=OE >><?5F5=F<= (��), M?5<5=FO >>F>DOE 
D>D<<DGNFEO 6 D4<>4E 4<EF<??<=O:  

�� 1.1 �O?>?=OFL F5E=<G5E><5 D45>FO ?D< D57<EFD4F<< =475<=OE < 
E>646<==OE 75>D<7<G5E><E 44==OE. 

�� 1.3 �D>65DOFL F5E=<G5E>>5 E>EF>O=<5 >5>DG4>64=<O, =5>5E>4<<>7> 
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4?O ?D>6545=<O 75>D<7<G5E><E D45>F. 
�� 2.1 �O?>?=OFL F5E=<G5E><5 D45>FO ?> D57<EFD4F<<, >5D45>F>5 < 
<=F5D?D5F4F<< =475<=OE 75>D<7<G5E><E 44==OE. 
�� 3.2 �>=FD>?<D>64FL >4G5EF6> ?D< ?D><76>4EF65 75>D<7<G5E><E D45>F. 
�� 3.4. �55E?5G<64FL 557>?4E=>5 ?D>6545=<5 D45>F. 

� D4<>4E >E6>5=<O GG55=>= 4<EF<??<=O G EFG45=F>6 D>D<<DGNFEO 
E?54GNM<5 M?5<5=FO ?<G=>EF=OE D57G?LF4F>6 (�$): 

�$ 13. �5<>=EFD<DGNM<= 7>F>6=>EFL < E?>E>5=>EFL 65EF< 4<4?>7 E 
4DG7<<< ?N4L<<, 4>EF<74FL 6 =5< 674<<>?>=<<4=<O, =4E>4<FL >5M<5 F5?< < 
E>FDG4=<G4FL 4?O <E 4>EF<65=<O 6 ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. 

�$ 14. �D>O6?ONM<= E>7=4F5?L=>5 >F=>L5=<5 > =5?D5DO6=><G 
>5D47>64=<N >4> GE?>6<N GE?5L=>= ?D>D5EE<>=4?L=>= < >5M5EF65==>= 
45OF5?L=>EF<. 

� D4<>4E ?D>7D4<<O GG55=>= 4<EF<??<=O >5GG4NM<<<EO >E64<64NFEO 
E?54GNM<5 G<5=<O < 7=4=<O. 

�>4 

��, �� 

'<5=<O �=4=<O 

�� 1 

��2 
�� 3 

�� 4 

�� 5 

�� 9 

��1.1 

��1.3 

��2.1 

��3.2 

��3.4 

 

 

'<5FL: 
- ?>45<D4FL M?5>FD<G5E><5 
?D<5>DO < >5>DG4>64=<5 E 
>?D545?5==O<< ?4D4<5FD4<< < 
E4D4>F5D<EF<>4<<; 
- M>E??G4F<D>64FL 
M?5>FD>>5>DG4>64=<5 < 
<5E4=<7<O ?5D544G< 46<65=<O 
F5E=>?>7<G5E><E <4L<= < 
4??4D4F>6; 
- D4EEG<FO64FL ?4D4<5FDO 
M?5>FD<G5E><E, <47=<F=OE 
F5?5=; 
- E=<<4FL ?>>474=<O < 
?>?L7>64FLEO 
M?5>FD><7<5D<F5?L=O<< 
?D<5>D4<< < 
?D<E?>E>5?5=<O<<; 
- E>5<D4FL M?5>FD<G5E><5 
EE5<O; 
- G<F4FL ?D<=F<?<4?L=O5, 
M?5>FD<G5E><5 < <>=F46=O5 
EE5<O. 

�=4FL: 
- <5F>4O D4EG5F4 < <7<5D5=<O >E=>6=OE 
?4D4<5FD>6 M?5>FD<G5E><E, <47=<F=OE F5?5=; 
- >E=>6=O5 74>>=O M?5>FD>F5E=<><; 
>E=>6=O5 ?D46<?4 M>E??G4F4F<< 
M?5>FD>>5>DG4>64=<O < <5F>4O <7<5D5=<O 
M?5>FD<G5E><E 65?<G<=; 
- >E=>6O F5>D<< M?5>FD<G5E><E <4L<=, 
?D<=F<? D45>FO F<?>6OE M?5>FD<G5E><E 
GEFD>=EF6; 
- >E=>6O D<7<G5E><E ?D>F5EE>6 6 
?D>6>4=<>4E < 4<M?5>FD<>4E; 
- ?4D4<5FDO M?5>FD<G5E><E EE5< < 54<=<FO <E 
<7<5D5=<O; 
- ?D<=F<?O 6O5>D4 GEFD>=EF6 < ?D<5>D>6; 
- ?D<=F<?O 45=EF6<O, GEFD>=EF6>, >E=>6=O5 
E4D4>F5D<EF<>< M?5>FD>F5E=<G5E><E < 
M?5>FD>==OE GEFD>=EF6 < ?D<5>D>6; 
- E6>=EF64 ?D>6>4=<>>6, 
M?5>FD><7>?OF<>==OE, <47=<F=OE 
<4F5D<4?>6; 
- E?>E>5O ?>?GG5=<O, ?5D544G< < 
<E?>?L7>64=<O M?5>FD<G5E>>= M=5D7<<; 
- GEFD>=EF6>, ?D<=F<? 45=EF6<O < >E=>6=O5 
E4D4>F5D<EF<>< M?5>FD>F5E=<G5E><E 
?D<5>D>6; 
- E4D4>F5D<EF<>< < ?4D4<5FDO M?5>FD<G5E><E 
< <47=<F=OE ?>?5=. 
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2. %&$'�&'$� � %���$����� ''����� ��%&�����/ 

2.1. �5N5< GG55=>= 4<EF<??<=O < 6<4O GG55=>= D45>FO 
 

�<4 GG55=>= D45>FO �5N5< G4E>6 

�5N5< >5D47>64F5?L=>= ?D>7D4<<O GG55=>= 4<EF<??<=O 204 

�5O74F5?L=4O 4G4<F>D=4O GG55=4O =47DG7>4 (6E57>) 204 

6 F. G. 6 D>D<5 ?D4>F<G5E>>= ?>47>F>6>< 118 

6 F>< G<E?5, 

F5>D5F<G5E>>5 >5GG5=<5 86 

�D4>F<G5E><5/?45>D4F>D=O5 74=OF<O 118 

�D><56GF>G=4O 4FF5EF4F<O 6 D>D<5 ->74<5= 12 
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2.2. &5<4F<G5E><= ??4= < E>45D64=<5 GG55=>= 4<EF<??<=O  

 

�4<<5=>64=<5 
D4745?>6 < F5< 

%>45D64=<5 GG55=>7> <4F5D<4?4 < D>D<O >D74=<74F<< 45OF5?L=>EF< >5GG4NM<EEO 

�5N5<, 4>. G /  
6 F>< G<E?5  

6 D>D<5 
?D4>F<G5E>>= 

?>47>F>6><, 4>. 
G 

�>4O 
>><?5F5=F<=  
< ?<G=>EF=OE 
D57G?LF4F>6, 
D>D<<D>64=<

N >>F>DOE 
E?>E>5EF6G5F 

M?5<5=F 
?D>7D4<<O 

1 2 3 4 

$4745? 1. &5>D<O M?5>FD<G5E><E F5?5= 50/36  

&5<4 1.1 

-?5>FD<G5E>>5 ?>?5 

%>45D64=<5 GG55=>7> <4F5D<4?4 10/6 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

-?5>FD<G5E>>5 ?>?5 < 57> >E=>6=O5 E4D4>F5D<EF<><. �4>>= �G?>=4. -?5>FD<G5E>4O 
?>EF>O==4O. �4?DO65==>EFL M?5>FD<G5E>>7> ?>?O. �D4D<G5E>>5 <7>5D465=<5. �>F5=F<4?, 
=4?DO65=<5. %6O7L ?>F5=F<4?4 E =4?DO65=<5<. -?5>FD<G5E>>5 ?>?5 6 4<M?5>FD<>5. 
-?5>FD<G5E><= ?D>5>= < M?5>FD<G5E>4O ?D>G=>EFL 4<M?5>FD<>4. -?5>FD<G5E>4O 5<>>EFL. 
�<>>EFL ??>E>>7> >>=45=E4F>D4. %>54<=5=<5 >>=45=E4F>D>6. -=5D7<O 74DO65==>7> 
>>=45=E4F>D4, ??>F=>EFL M=5D7<<. $4EG5F M?5>FD>EF4F<G5E><E F5?5=. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�D4>F<G5E>>5 74=OF<5 7 1. $4EG5F M?5>FD<G5E><E F5?5= ?D< ?>E?54>64F5?L=><, 
?4D4??5?L=>< < E<5L4==>< E>54<=5=<< >>=45=E4F>D>6. 

6 

&5<4 1.2 

-?5>FD<G5E><5 F5?< 
?>EF>O==>7> F>>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 40/30 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

-?5<5=FO M?5>FD<G5E>>= F5?< < <E >?4EE<D<>4F<<. -?5>FD<G5E><= F>>: 65?<G<=4, 
=4?D46?5=<5. -?5>FD>?D>6>4=>EFL < E>?D>F<6?5=<5, ??>F=>EFL F>>4. �4>>= �<4. 
-?5>FD>46<6GM4O E<?4, <>M=>EFL < >>MDD<F<5=F ?>?57=>7> 45=EF6<O <EF>G=<>4 
M?5>FD<G5E>>= M=5D7<<. �D5>5D47>64=<5 M?5>FD<G5E>>= M=5D7<< 6 4DG7<5 M=5D7<<. �4>>= 
�6>G?O-�5=F4. �4?4=E <>M=>EF< 6 M?5>FD<G5E><E F5?OE.   $56<< M?5>FD<G5E><E F5?5=, 
D45>F4 <EF>G=<>4 M?5>FD<G5E>>= M=5D7<< =4 ?D<5<=<>. �EF>G=<> F>>4 < -.�.%.  �>=OF<5 > 
?4EE<6=OE < 4>F<6=OE M?5<5=F4E M?5>FD<G5E>>= M=5D7<<. 

10 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 30 
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�45>D4F>D=4O D45>F4 71. &D5=<D>6>G=O5 G?D46=5=<O 6 E5>D>5 M?5>FD<G5E><E EE5<. 
�E?>?L7>64=<5 F65F>6>= >>4<D>6>< 4?O >?D545?5=<O 7=4G5=<O E>?D>F<6?5=<=. �O5>D 
M?5>FD><7<5D<F5?L=>= 4??4D4FGDO 4?O 7444==OE GE?>6<= D45>FO. 

6 

�45>D4F>D=4O D45>F4 72. �EE?54>64=<5 D56<<>6 D45>FO 6 M?5>FD<G5E><E F5?OE. 6 

�45>D4F>D=4O D45>F4 73. �5D4765F6?5==4O F5?L ?>EF>O==>7> F>>4, ?>EFD>5=<5 
?>F5=F<4?L=>= 4<47D4<<O. 

6 

�45>D4F>D=4O D45>F4 74. �>E?54>64F5?L=>5, ?4D4??5?L=>5, E<5L4==>5 E>54<=5=<5 
E>?D>F<6?5=<=. �>EFD>5=<5 ��%. 

6 

�D4>F<G5E>>5 74=OF<5 7 2. $4EG5F F5?< ?>EF>O==>7> F>>4 D47?<G=O<< <5F>44<<. 6 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 2. &5>D<O M?5>FD><47=<F=>7> ?>?O 106/58  

&5<4 2.1 

-?5>FD><47=5F<7< 
%>45D64=<5 GG55=>7> <4F5D<4?4 12/6 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

�47=<F=>5 ?>?5 < 57> E4D4>F5D<EF<><. �4>>= �<?5D4. �47=<F=4O <=4G>F<O. �D<<5=5=<5 
74>>=4 �<?5D4 4?O D4EG5F4 <47=<F=>= <=4G>F<<. �47=<F=O= ?>F>>, ?>F>>>EF5??5=<5. 
�=4G>F<6=>EFL E>5EF65==4O < 674<<=4O. �47=<F=O5 E6>=EF64 65M5EF64. �47=<F=O5 
<4F5D<4?O.  �4<47=<G<64=<5 < =4<47=<G5==>EFL. $5DD<FO.  �4?DO65==>EFL <47=<F=>7> 
?>?O, <47=<F=4O ?D>=<F45<>EFL 65M5EF64. �47=<F=4O F5?L < 55 D4EG5F. �4>>= ?>?=>7> F>>4 
< ?D<<5=5=<5. -=5D7<O <47=<F=>7> ?>?O >4FGL>< E F>>><. -?5>FD><47=<F. %<?4 
674<<>45=EF6<O 46GE ?4D4??5?L=OE ?D>6>4=<>>6 E F>>4<<. 

6 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�45>D4F>D=4O D45>F4 75. �EE?54>64=<5 >4=>D>4=>= =5D4765F6?5==>= <47=<F=>= F5?< 6 

&5<4 2.2 

-?5>FD<G5E><5 
>4=>D47=O5 F5?< 
?5D5<5==>7> F>>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 14/6 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

�5D5<5==O= F>>. �>?GG5=<5 E<=GE><44?L=>= -.�.%. �D<=F<? 45=EF6<O 75=5D4F>D4 
?5D5<5==>7> F>>4. 'D46=5=<O, 7D4D<><, E4D4>F5D<EF<>< ?5D5<5==>7> E<=GE><44?L=>7> 
F>>4.  �5=EF6GNM4O < ED54=OO 65?<G<=4 E<=GE><44?L=>7> F>>4, =4?DO65=<O < -.�.%. 
�4D4<5FDO M?5>FD<G5E>>= F5?<.  
&5?L E<=GE><44?L=>7> F>>4 E 4>F<6=O< E>?D>F<6?5=<5<, <=4G>F<6=>EFLN, 5<>>EFLN. 
�4?DO65=<5, F>>, <>M=>EFL, =4G4?L=4O D474, 65>F>D=4O 4<47D4<<. $4EG5F =5D4765F6?5==>= 
F5?< ?5D5<5==>7> F>>4 4>F<6=O< E>?D>F<6?5=<5<, <=4G>F<6=>EFLN, 5<>>EFLN ?D< 
D47?<G=OE E>>F=>L5=<OE D54>F<6=OE 65?<G<=. &D5G7>?L=<>< =4?DO65=<=, 
E>?D>F<6?5=<=, <>M=>EF5=.  

8 
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$4EG5F F5?< ?5D5<5==>7> F>>4 E 46G<O G7?4<< E 4>F<6=O< E>?D>F<6?5=<5<, 
<=4G>F<6=>EFLN, 5<>>EFLN ?D< D47?<G=OE E>>F=>L5=<OE 65?<G<= D54>F<6=OE 
?D>6>4<<>EF5=. &D5G7>?L=<>< F>>>6, ?D>6>4<<>EF5=, <>M=>EF5=. $4EG5F F5?< 
?5D5<5==>7> F>>4 <5F>4>< ?D>6>4<<>EF5=. �>MDD<F<5=F <>M=>EF<. 
� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�45>D4F>D=4O D45>F4 76. �EE?54>64=<5 D56<<>6 D45>FO =5D4765F6?5==OE F5?5= 
?5D5<5==>7> F>>4. $57>=4=E F>>>6 

6 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.3 

&D5ED47=O5 
M?5>FD<G5E><5 F5?< 

%>45D64=<5 GG55=>7> <4F5D<4?4 28/18 

%>54<=5=<5 >5<>F>> FD5ED47=OE <EF>G=<>>6 M?5>FD<G5E>>= M=5D7<< 76574>= < 
FD5G7>?L=<>><. &D5E?D>6>4=O5 < G5FOD5E?D>6>4=O5 FD5ED47=O5 M?5>FD<G5E><5 F5?<. 
$47=O5 < ?<=5==O5 =4?DO65=<O, D47=O5 < ?<=5==O5 F>><, E>>F=>L5=<O <564G =<<<. 
%<<<5FD<G=O5 < =5E<<<5FD<G=O5 FD5ED47=O5 M?5>FD<G5E><5 F5?<. �5=FD4?L=O= 
(=G?56>=) ?D>6>4 < 57> =47=4G5=<5. �5>F>D=4O 4<47D4<<4 =4?DO65=<= < F>>>6. �5D544G4 
M=5D7<< ?> FD5ED47=>= ?<=<<. 
�>M=>EFL FD5ED47=>= M?5>FD<G5E>>= F5?< ?D< D47?<G=OE E>54<=5=<OE =47DG7><. $4EG5F 
E<<<5FD<G=>= FD5ED47=>= M?5>FD<G5E>>= F5?< ?D< E>54<=5=<< =47DG7>< 76574>= < 
FD5G7>?L=<>><. 

10 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 18 

�45>D4F>D=4O D45>F4 77. �EE?54>64=<5 FD5ED47=>= G5FOD5E?D>6>4=>= M?5>FD<G5E>>= 
F5?< E<=GE><44?L=>7> F>>4. 

6 

�45>D4F>D=4O D45>F4 78. �EE?54>64=<5 D56<<>6 D45>FO FD5ED47=>= F5?< ?D< 
E>54<=5=<< ?D<5<=<>>6 "FD5G7>?L=<>><". 

6 

�D4>F<G5E>>5 74=OF<5 73. $4EG5F FD5ED47=OE F5?5= ?5D5<5==>7> F>>4. 6 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.4 

-?5>FD<G5E><5 
<7<5D5=<O 

%>45D64=<5 GG55=>7> <4F5D<4?4 16/12 

�E=>6=O5 ?>=OF<O, ?>7D5L=>EF< <7<5D5=<=. �?4EEO F>G=>EF< <7<5D<F5?L=OE ?D<5>D>6. 
�?4EE<D<>4F<O M?5>FD><7<5D<F5?L=OE ?D<5>D>6. �7<5D<F5?L=O5 <5E4=<7<O �7<5D5=<5 
F>>4, =4?DO65=<O, <>M=>EF<, M?5>FD<G5E>>= M=5D7<<, E>?D>F<6?5=<O. 

4 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 � F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 12 
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�45>D4F>D=4O D45>F4 79. �E?>?L7>64=<5 F<DD>6>7> <G?LF<<5FD4 6 >4G5EF65 4<?5D<5FD4, 
6>?LF<5FD4, ><<5FD4. �D>65D>4 <7<5D<F5?L=>7> ?D<5>D4. 

6 

�D4>F<G5E>>5 74=OF<5 74. $4EG5F 45E>?NF=>=, >F=>E<F5?L=>= < ?D<6545==>= 
?>7D5L=>EF< ?>7D5L=>EF5= ?D< ?DO<OE < >>E65==OE <5F>44E <7<5D5=<=. 

6 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.5 

&D4=ED>D<4F>DO 

%>45D64=<5 GG55=>7> <4F5D<4?4 8/4 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

�47=4G5=<5, ?D<=F<? 45=EF6<O < GEFD>=EF6> >4=>D47=>7> FD4=ED>D<4F>D4. 
$56<<O D45>FO FD4=ED>D<4F>D4. �><<=4?L=O5 ?4D4<5FDO FD4=ED>D<4F>D4: <>M=>EFL, 
=4?DO65=<5 < F>>< >5<>F>>. �>F5D< M=5D7<< < ��� FD4=ED>D<4F>D4. &<?O 

FD4=ED>D<4F>D>6 < <E ?D<<5=5=<5: FD5ED47=O5, <=>7>>5<>F>G=O5, <7<5D<F5?L=O5, 
46F>FD4=ED>D<4F>DO. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�45>D4F>D=4O D45>F4 710. �EE?54>64=<5 D56<<>6 D45>FO >4=>D47=>7> 
FD4=ED>D<4F>D4. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.6 

-?5>FD<G5E><5 
<4L<=O ?5D5<5==>7> 
F>>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 10/6 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

�47=4G5=<5 <4L<= ?5D5<5==>7> F>>4 < <E >?4EE<D<>4F<O.  �>?GG5=<5 6D4M4NM57>EO 
<47=<F=>7> ?>?O 6 FD5ED47=OE M?5>FD>46<74F5?OE < 75=5D4F>D4E.  
'EFD>=EF6> M?5>FD<G5E>>= <4L<=O ?5D5<5==>7> F>>4: EF4F>D < 57> >5<>F>4, D>F>D < 57> 
>5<>F>4. �D<=F<? 45=EF6<O FD5ED47=>7> 4E<=ED>==>7> 46<74F5?O. 
 '4EF>F4 6D4M5=<O <47=<F=>7> ?>?O EF4F>D4 < G4EF>F4 6D4M5=<O D>F>D4. �D4M4NM<= 
<><5=F 4E<=ED>==>7> 46<74F5?O. %>>?L65=<5. �GE> 6 E>4 4E<=ED>==OE 46<74F5?5= E 
>>D>F>>74<>=GFO< < D47=O< D>F>D><. 
$45>G<= ?D>F5EE 4E<=ED>==>7> 46<74F5?O < 57> <5E4=<G5E>4O E4D4>F5D<EF<>4. 
$57G?<D>64=<5 G4EF>FO 6D4M5=<O D>F>D4. �4=>D47=O= < 46GED47=O= 4E<=ED>==O= 
M?5>FD>46<74F5?<. �>F5D< M=5D7<< < ��� 4E<=ED>==>7> 46<74F5?O. 
%<=ED>==O5 <4L<=O < >5?4EFL <E ?D<<5=5=<O. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�45>D4F>D=4O D45>F4 711. �EE?54>64=<5 D45>G<E E4D4>F5D<EF<> FD5ED47=>7> 
4E<=ED>==>7> 46<74F5?O E >>D>F>>74<>=GFO< D>F>D><. 

6 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  
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&5<4 2.7 

-?5>FD<G5E><5 
<4L<=O ?>EF>O==>7> 
F>>4 

%>45D64=<5 GG55=>7> <4F5D<4?4 10/6 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

�47=4G5=<5 <4L<= ?>EF>O==>7> F>>4 < <E >?4EE<D<>4F<O. 
'EFD>=EF6> < ?D<=F<? 45=EF6<O <4L<= ?>EF>O==>7> F>>4: <47=<F=4O F5?L, >>??5>F>D, 
>5<>F>4 O>>DO. $45>G<= ?D>F5EE <4L<=O ?>EF>O==>7> F>>4: -�% >5<>F>< O>>DO, D54>F<O 
O>>DO, >><<GF4F<O. 
�5=5D4F>DO ?>EF>O==>7> F>>4, 46<74F5?< ?>EF>O==>7> F>>4, >5M<5 E6545=<O. 
-?5>FD<G5E><5 <4L<=O E =5746<E<<O< 6>75G645=<5<, E ?4D4??5?L=O<, 
?>E?54>64F5?L=O< < E<5L4==O< 6>75G645=<5<. 
�GE> 6 E>4, D57G?<D>64=<5 G4EF>FO 6D4M5=<O 46<74F5?5= ?>EF>O==>7> F>>4. �>F5D< M=5D7<< 
< ��� <4L<= ?>EF>O==>7> F>>4. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�45>D4F>D=4O D45>F4 712. �EE?54>64=<5 D45>G<E E4D4>F5D<EF<> 46<74F5?5= 
?>EF>O==>7> F>>4 E ?4D4??5?L=O< <?< E<5L4==O< 6>75G645=<5<. 

6 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.8 

�E=>6O 
M?5>FD>?D<6>44 

%>45D64=<5 GG55=>7> <4F5D<4?4 4/0 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

�>=OF<5 >5 M?5>FD>?D<6>45. 'D46=5=<5 46<65=<O M?5>FD>?D<6>44. �5E4=<G5E><5 
E4D4>F5D<EF<>< =47DG7>G=OE GEFD>=EF6. $4EG5F <>M=>EF< < 6O5>D 46<74F5?O ?D< 
?D>4>?6<F5?L=><, >D4F>>6D5<5==>< < ?>6F>D=> >D4F>>6D5<5==>< D56<<4E. �??4D4FGD4 
4?O G?D46?5=<O M?5>FD>?D<6>4><. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 2.9 

�5M<5 ?>=OF<O > 
?D><76>4EF65, 
?5D544G<, 
D4E?D545?5=<< < 
?>FD55?5=<< 
M?5>FD<G5E>>= 
M=5D7<<.  

%>45D64=<5 GG55=>7> <4F5D<4?4  4/0  

$4E?D545?5=<5 M?5>FD>M=5D7<<. -?5>FD>E=4565=<5 ?D><OL?5==OE ?D54?D<OF<= < 6<?OE 
744=<=. -?5>FD>E=4565=<5 F5E>6 < >E65F<F5?L=OE M?5>FD>E5F5=. 
�O5>D E5G5=<= ?D>6>4>6 < >455?5= M?5>FD<G5E>>= E5F<. �4M<F=>5 7475<?5=<5. �4M<F=>5 
74=G?5=<5. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

$4745? 3. -?5>FD>=<>4 < D44<>M?5>FD>=<>4 48/24  

&5<4 3.1 %>45D64=<5 GG55=>7> <4F5D<4?4 10/6 �� 1-5, 9  

-?5>FD>?D>6>4=>EFL ?>?G?D>6>4=<>>6. 4 
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�>?G?D>6>4=<>>6O5 
?D<5>DO. 

�>?G?D>6>4=<>>6O5 ?D<5>DO: 4<>4O, 5<?>?OD=O5 FD4=7<EF>DO, G=<?>?OD=O5 (?>?56O5) 
FD4=7<EF>DO: D<7<G5E><5 ?D>F5EEO, EE5<O 6>?NG5=<O, ?4D4<5FDO < E4D4>F5D<EF<><. 
�=F57D4?L=O5 EE5<O. 

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�45>D4F>D=4O D45>F4 713. �EE?54>64=<5 6E>4=OE < 6OE>4=OE E4D4>F5D<EF<> 
5<?>?OD=>7> FD4=7<EF>D4 

6 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.2 

-?5>FD>64>GG<=O5 
?D<5>DO 

%>45D64=<5 GG55=>7> <4F5D<4?4 4/0 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

�?4EE<D<>4F<O, =47=4G5=<5, <4D><D>6>4, GEFD>=EF6> < ?D<=F<? D45>FO M?5>FD>64>GG<=OE 
M?5>FD>==OE ?D<5>D>6. �E=>6=O5 E6545=<O >5 M?5>FD>==OE ?D>F5EE4E, M?5>FD>==4O 
M<<EE<O. -?5>FD>==>?GG564O FDG5>4, 55 GEFD>=EF6> < ?D<=F<? 45=EF6<O. -?5>FD>==O= 
>EF<??>7D4D. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.3   

-?5>FD>==O5 
6O?DO<<F5?< < 
EF45<?<74F>DO. 

%>45D64=<5 GG55=>7> <4F5D<4?4 10/6 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

�E=>6=O5 ?4D4<5FDO 6O?DO<<F5?5=. �D<=F<? D45>FO < EE5<4 >4=>?>?G?5D<>4=>7>, 
46GE?>?G?5D<>4=>7> < FD5ED47=>7> 6O?DO<<F5?5=. �>MDD<F<5=F 6O?DO<?5=<O EE5<O. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 6 

�45>D4F>D=4O D45>F4 714. �EE?54>64=<5 6E>4=>7> =4?DO65=<O >4=>?>?G?5D<>4=>7> 
6O?DO<<F5?O E ?><>MLN >EF<??>7D4D4. 

6 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.4   

-?5>FD>==O5 
GE<?<F5?<.   

%>45D64=<5 GG55=>7> <4F5D<4?4 8/4  

�E=>6=O5 ?>>474F5?< < EE5<O GE<?<F5?5= M?5>FD<G5E><E E<7=4?>6. �D<=F<? D45>FO 
GE<?<F5?O =<7>>= G4EF>FO =4 5<?>?OD=>< FD4=7<EF>D5. �=>7>>4E>44=O5 GE<?<F5?<, 
>5D4F=4O E6O7L < F5<?5D4FGD=4O EF45<?<74F<O D56<<4 D45>FO GE<?<F5?O. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�45>D4F>D=4O D45>F4 715. �EE?54>64=<5 4<??<FG4=>= E4D4>F5D<EF<>< <=65DF<DGNM57> 
< =5<=65DF<DGNM57> GE<?<F5?O. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.5 %>45D64=<5 GG55=>7> <4F5D<4?4 8/4 �� 1-5, 9  
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-?5>FD>==O5 
75=5D4F>DO 

�>?554F5?L=O= >>=FGD. %FDG>FGD=4O EE5<4 M?5>FD>==>7> 75=5D4F>D4. �5=5D4F>DO 
E<=GE><44?L=OE >>?554=<= LC-  < RC- F<?4. �<?G?LE=O5 75=5D4F>DO. �D<=F<?O < EE5<O 
?>?GG5=<O <<?G?LE=OE E<7=4?>6  
D47?<G=OE >>=D<7GD4F<=. 

4 �� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�45>D4F>D=4O D45>F4 716. �EE?54>64=<5 D>D<O 6OE>4=>7> E<7=4?4 M?5>FD>==OE 
75=5D4F>D>6. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

&5<4 3.6 

-?5>FD>==O5 
GEFD>=EF64 
46F><4F<>< < 
6OG<E?<F5?L=>= 
F5E=<>< 

%>45D64=<5 GG55=>7> <4F5D<4?4 8/4 �� 1-5, 9  

�� 1.1, 1.3, 
2.1, 3.2, 3.4  

�$ 13, 14 

%FDG>FGD4 E<EF5<O 46F><4F<G5E>>7> >>=FD>?O, G?D46?5=<O < D57G?<D>64=<O. 
�7<5D<F5?L=O5 ?D5>5D47>64F5?<. �7<5D5=<5 =5M?5>FD<G5E><E 65?<G<= M?5>FD<G5E><<< 
<5F>44<<. �4D4<5FD<G5E><5 ?D5>5D47>64F5?<: D57<EF<6=O5, <=4G>F<6=O5, 5<>>EF=O5. 
�5=5D4F>D=O5 ?D5>5D47>64F5?<. �D<=F<?O ?D5>5D47>64=<O E<7=4?>6 6 F<DD>6>= >>4. 
'EFD>=EF6> 6O5>D>< 3ED4=5=<O. �D5>5D47>64F5?L ?>E?54>64F5?L=>7> EG5F4. 
�D5>5D47>64F5?L EG<FO64NM57> F<?4. �=4?>7>6>-F<DD>6O5 ?D5>5D47>64F5?<. 
-?5>FD>==O5 EFD5?>G=O5 < F<DD>6O5 6>?LF<5FDO. 
�E?>?=<F5?L=O5 M?5<5=FO: M?5>FD><47=<FO; M?5>FD>46<74F5?< ?>EF>O==>7> < 
?5D5<5==>7> F>>>6, L47>6O5 M?5>FD>46<74F5?<. 
-?5>FD><47=<F=>5 < D5DD> <47=<F=>5 D5?5. 
�E=>6=O5 ?>7<G5E><5 >?5D4F<< < <E E<EF5<=GN D54?<74F<N. �>7<G5E><5 M?5<5=FO. 

4 

� F>< G<E?5 ?D4>F<G5E><E < ?45>D4F>D=OE 74=OF<= 4 

�45>D4F>D=4O D45>F4 717. �EE?54>64=<5 EE5<O F<DD>6>7> 4=4?>7>6>7> ?D5>5D47>64F5?O 
E <4FD<F5= D57<EF>D>6. �EE?54>64=<5 EE5<O 4=4?>7>6>-F<DD>6>7> ?D5>5D47>64F5?O. 

4 

%4<>EF>OF5?L=4O D45>F4 >5GG4NM<EEO  

 �D><56GF>G=4O 4FF5EF4F<O   

�%���  204/118  
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3. '%����/ $������&�� ''����� ��%&�����/ 

 

3.1. &D55>64=<O > <<=<<4?L=><G <4F5D<4?L=>-F5E=<G5E>><G 
>55E?5G5=<N 

$54?<74F<O GG55=>= 4<EF<??<=O FD55G5F =4?<G<O GG55=>= ?45>D4F>D<< 
M?5>FD>F5E=<>< < M?5>FD>=<><. 

�5>DG4>64=<5 ?45>D4F>D<< < D45>G<E <5EF ?45>D4F>D<<: 
- ?>E44>G=O5 <5EF4 ?> >>?<G5EF6G >5GG4NM<EEO; 
- D45>G55 <5EF> ?D5?>4464F5?O; 
- >><??5>F GG55=>-=47?O4=OE ?>E>5<= ?> M?5>FD>F5E=<>5 < M?5>FD>=<>5; 
&5E=<G5E><5 ED54EF64 >5GG5=<O:  
- >><??5>F >5>DG4>64=<O ?45>D4F>D=OE EF5=4>6 4?O GG55=>= ?45>D4F>D<< 

M?5>FD>F5E=<>< < M?5>FD>=<><, 6 F>< G<E?5: 
1. <EE?54>64=<5 4E<=ED>==OE <4L<=,  
2. <EE?54>64=<5 <4L<= ?>EF>O==>7> F>>4,  
3. >4=>D47=O5 < FD5ED47=O5 FD4=ED>D<4F>DO, 
4. >E=>6O F<DD>6>= F5E=<><, 
5. <7<5D5=<5 M?5>FD<G5E><E 65?<G<=, 
6. <EE?54>64=<5 >4=>D47=OE < FD5ED47=OE F5?5= ?5D5<5==>7> F>>4. 
7. M?5>FD<G5E><5 F5?< ?>EF>O==>7> F>>4. 
�G?LF<<54<==>5 >E=4M5=<5 ?45>D4F>D<<, <G?LF<<54<==O= ?D>5>F>D, 

<G?LF<<54<4 M>D4=, 4>E>4 4?O ??4>4F>6. 
�45>D4F>D=4O <555?L: EF>?O, EFG?LO 4?O EFG45=F>6 3 15 >><??5>F>6; D45>G55 

<5EF> (EF>?, >D5E?>) 4?O ?D5?>4464F5?O  1 LF. 
 

3.2. �=D>D<4F<>==>5 >55E?5G5=<5 >5GG5=<O 

�5D5G5=L GG55=OE <744=<=, �=F5D=5F-D5EGDE>6, 4>?>?=<F5?L=>= 
?<F5D4FGDO 
 

1.%?46<=E><=, �. �. -?5>FD>F5E=<>4 E >E=>64<< M?5>FD>=<><: GG55=>5 ?>E>5<5 / 
�.�. %?46<=E><=, �.%. &GD56E><=. 3 �>E>64: $�$'�: ��$$�-�, 2022. 3 448 E. 3 

(%D54=55 ?D>D5EE<>=4?L=>5 >5D47>64=<5). - ISBN 978-5-8199-0747-4. - &5>EF: 
M?5>FD>==O=. 3 URL: https://znanium.com/catalog/product/1864187 (44F4 >5D4M5=<O: 
19.02.2025). 3 $56<< 4>EFG?4: ?> ?>4?<E>5. 

2.�>F4?>6, �. �. �E=>6O M?5>FD>F5E=<><: GG55=>5 ?>E>5<5 4?O E?> / �. �. �>F4?>6. 
3 2-5 <74., EF5D. 3 %4=>F-�5F5D5GD7: �4=L, 2022. 3 376 E. 3 ISBN 978-5-8114-9391-3. 3 &5>EF: 
M?5>FD>==O= // �4=L: M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 3 URL: 

https://e.lanbook.com/book/193417 (44F4 >5D4M5=<O: 19.02.2025). 3 $56<< 4>EFG?4: 4?O 
46F>D<7. ?>?L7>64F5?5=. 

3.�E=>6O M?5>FD>F5E=<><: GG55=<> 4?O E?> / �. �. �>?L=<G5=>>, /. �. &4D?4>>6, �. 
�. %<D>F>6, �. �. �D46G5=>>. 3 2-5 <74., EF5D. 3 %4=>F-�5F5D5GD: �4=L, 2021. 3 204 E. 3 

ISBN 978-5-8114-8050-0. 3 &5>EF: M?5>FD>==O= // �4=L: M?5>FD>==>-5<5?<>F5G=4O 
E<EF5<4. 3 URL: https://e.lanbook.com/book/171409 (44F4 >5D4M5=<O: 19.02.2025). 3 $56<< 
4>EFG?4: 4?O 46F>D<7. ?>?L7>64F5?5=. 

4.�?>??>=E><=, %. �. �E=>6O M?5>FD>F5E=<><. �D4>F<>G< / %. �. �?>??>=E><=. 3 
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